i) LYl zeliall 2Bge (o calall s AMiamat T Ss

almahahj.com/ae

Ll ) 2301

Sl ) &l dall)

i 423 aall

dno N dy i)

zan - (Byell (Sl Y] alil]

PRSI RS I

Slgl Gloia¥ ali] Y



https://almanahj.com/ae/id=21085
https://almanahj.com/ae/12math2
https://almanahj.com/ae/12math
https://almanahj.com/ae/12
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade12uae
https://www.facebook.com/grade12uae
http://bit.ly/3cHhI5R
https://t.me/almanahj_bot
https://bit.ly/2PxutsU
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://almanahj.com/ae/id=21085
https://almanahj.com/ae/id=21039
https://almanahj.com/ae/id=21036
https://almanahj.com/ae/id=21004
https://almanahj.com/ae/id=20988
http://www.tcpdf.org

et

om0

o BONUS saons

5
Question paldd Jladaly M ‘!J

Find the component form and dghagh Al J34 (0 AB

magnitude of AB with Initial point
A(~1,4,6) and terminal point B(3,3,8) Yl iy A(-1,4

8(3: 3: a)"
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Question 3 )
Buthaina is pushing the handle of Uhae Sy &b dudiSe Gaide L, 0
a push broom with a force of 190 N at ol g 33° 4l 199
an angle of 33° with the ground. &HWVWHJH(&:

Blalaia GliSia ) B5dl) 03y

a) Draw a diagram that shows the
L) LSl uilia sl (p

resolution of this force into its

rectangular components. Apaallly
b) Find the magnitudes of the
horizontal and vertical components.




(-t. ~2), Yool m (10, ~2) and
(=6 ~2).
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Show all your work when answering these questions.

Jipaal
| Question 1 ; JalS 3o paddl
Use Cramer’s Rule to find the solution  cislaall pli Ja S

g da 325 O Al
of the system of linear equations, if wz;-3y=13
a unique solution exists. 4x+2y=2
2x—3y=13
4x+2y=2
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